LLOYD ENTRANCE TEST
"LET -2018"
(LL.B. - 3 Year Program)

Ladder of Success Ladder of Success

Roll No. TIME : 120 MIN
MAX. MARKS: 150

INSTRUCTIONS FOR THE CANDIDATE

1. ATTHE COMMENCEMENT OF EXAMINATION CHECK THE TEST BOOKLET, THE
BOOKLET HAS 20 PAGES. IN CASE OF UNPRINTED, TORN OR MISSING PAGES
GETTHE BOOKLET REPLACED.

2. Enter Roll Number in the box provided on the Test Booklet. DO NOT write anything on the
Test Booklet. Use only Rough Pages for rough work.

3. There are total four sections (I-IV) containing 150 questions. Each question has four

alternative responses. Register your responses on the OMR sheet only. In case of more than

one correct response, mark the response you consider closest. Choose ONLY ONE response
for each question. Each question carries 01 mark.

All questions carry equal marks.

Fill in all required particulars on the OMR sheet before you proceed to mark your responses.

Atthe end of the examination hand over the Test Booklet and OMR Sheet to the invigilator.

Rough Pages are appended at the end of the Test Booklet.

More than one response to any question will not be evaluated.

e S S

There is no negative mark for incorrect answer.
10. Use ofunfair means will lead to cancellation of examination.
11. Mobile phones are not allowed in the examination hall.

12. Use Blue/Black ball point pen only.

https://exams.Jreshersnow.com/



https://exams.Jreshersnow.com/



SECTION -1
GENERAL STUDIES & GENERAL KNOWLEDGE

Kaziranga National Park is known for?

a) Lions

b) Bengal tigers
¢) Rhinoceros
d) Black buck

Which among the following is the brightest
planet?

a) Venus
b) Saturn
¢) Mars

d) Uranus

'Magma' which is out on earth's surface is
known as?

a) Coal

b) Ventricles

¢) Vestibules

d) Lava

Which one of the following rights was described
by Dr. B.R. Ambedkar as the heart and soul of
the Constitution?

a) Right to freedom of religion

b) Right to property

¢) Right to equality

d) Right of constitutional Remedies

The salaries and allowances of the Judges of the
High Court are charged to the

a) Consolidated Fund of India

b) Consolidated Fund of States
¢) Contingency Fund of India

d) Contingency Fund of the State

Which one of the following is not a radioactive
element?

a) Uranium
b) Radium
¢) Thorium
d) Cadmium

What is the correct sequence of an insect's
life cycle?

a) Egg, larva, pupa, adult insect

b) Adult insect, larva, egg, pupa

¢) Egg, Larva, Pupa, Adult insect

d) Larva, Egg, Pupa

10.

I1.

12.

13.

14.

Who built the Grand Trunk Road?

a) Humanyun
b) Shah Jahan
¢) Chandragupta
d) Sher Shah Suri

Which acid is produced when milk gets sour?

a) Tartaric acid
b) Butyric acid
¢) Lactic acid
d) Acetic acid

Water Cess in Ancient India was levied by one
of the following Mauryan king

a) Chandragupta Maurya
b) Bindusar

¢) Ashoka

d) Harshvardhan

Which Indian Para athlete became the first one
to clinch a Paralympic medal for India in
CWG 2018?

a) Ankur Mittal

b) Gaurav Solanki

¢) Sachin Chaudhary

d) Naman Tanwar

Indradhanusha scheme is related with

a) Education

b) Rural development
¢) Vaccination

d) Climate change

The Redcliffe Line is the international border
between

a) India and Pakistan

b) India and China

¢) India and Bangladesh
d) India and Nepal

Mahamana Express Connects Delhi With which
one of the following city

a) Allahabad

b) Gaya

¢) Varanasi

d) Patna
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15. Doklam issue is related with

a) Boarder dispute
b) Dalai Lama

¢) Hydro project

d) Electricity Dispute

16. India has won how many gold medals at the
Commonwealth Games 2018?

a) 26
b) 20
¢) 22
d) 27

17. Which of the following cities are called the
twin cities?
a) Delhi and Faridabad
b) Mumbai and Pune
¢) Hyderabad and Secunderabad
d) Bangalore and Mysore

18. India's permanent research station Dakshin
Gangotri is situated in
a) Great Himalayas
b) Indian Ocean
¢) Antarctica
d) Arabian Sea

19. Which of the following imaginary line almost
divides India into two equal parts?
a) Equator
b) Tropic of Cancer
¢) Tropic of Capricorn
d) Arctic Circle

20. Which is the largest continent in the world?
a) Asia
b) Africa
¢) Europe
d) North America

21. Which is the longest river in the world:
a) Ganga
b) Nile
¢) Amazon
d) Hwang Ho

22. Which State of India touches the boundaries of
the largest number of other States?

a) Andhra Pradesh
b) Bihar

¢) Madhya Pradesh
d) Uttar Pradesh

23. Which of the following countries share the
largest border length with India?

a) Bangladesh
b) Pakistan
¢) China

d) Nepal

24. Which of the following mountain ranges form
a dividing line between the Ganges Plain and
the Deccan Plateau?

a) Aravali
b) Vindhya
c) Satpura
d) Ajanta

25. Diabetes is caused by the malfunctioning of
a) Liver
b) Pancreas
¢) Kidney
d) Large intestine

26. Which of the following help to keep the
environment cool, fresh and oxygen rich?

a) Forests

b) Animals

¢) Red algae

d) Blue- green algae

27. 'Santhara' a voluntary fast until death is
practiced among?

a) Muslims
b) Jains
¢) Sikhs
d) Jews

28. Which of the following states has the maximum
percentage of mangrove cover in India?
a) Odisha
b) Kerala
c) West Bengal
d) Andhra Pradesh

29. Which perform the role of biological catalysts and

crucial to communication system in the body?

a) Proteins

b) Carbohydrates
¢) Lipids

d) RBCs

30. In India easterly waves affects

a) South peninsular region
b) North western region
¢) Western Himalaya

d) Eastern Himalaya
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31. Which article of the Indian constitution deals 34. Which king started the organization of Kumbh

32.

33.

with the abolition of untouchability?

a) Article21
b) Article 27
¢) Article 17
d) Article 15

The Constitution of India recognises
a) only religious minorities

b) only linguistic minorities

¢) religious and linguistic minorities

d) religious, linguistic and ethnic minorities

fair at Allahabad?

a) Harshavardhana
b) Dhruvasena Ii

¢) Narshimhvarman
d) Akbar

35. Which of the following is not a natural polymer?
a) Cotton
b) Teflon
¢) Silk
d) wool

The speed of light with the rise in the temperature

of the medium

a) Increases

b) Decreases

¢) Remains unaltered
d) Drops sharply
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SECTION -1I
ENGLISH

Question 36-40

Direction: Read the passage below and answer the questions that follow:

Ifthe reason in region of thought is the aim of science, the rule of equality in the region of behavior is the aim of Democracy. Democracy
is not the political arrangement or a form of government. It is a pattern of life, an active conviction which informs and inspires every
thought word and deed. our present constitution of society induces in its more fortunate members far too great readiness to accept
privilege as thought it were inherent in the social order , as though it were normal and even proper and just.

If we are sincere in our professions of democracy we should not shut our eyes to the most obvious defects of the present social order. A
system does not offer security and decent employment to multitudes of trained young men suffers from fundamental vice. Society is in
the danger of splitting into pieces if the few who have the benefits of civilization are not willing to share with the rest. No state is
attainable unless it procures for all its members the essentials of a good life. we acknowledge that health is better than disease,
sufficiency better than poverty , shelter better than cold and exposure, ease of mind better than racking anxiety. It is our duty to obtain
these essentials of civilized life for the mass of the population, to work for basic economic justice for all, if necessary by the imposition
of higher taxes on incomes, land, value and inheritance. Riches were created by the maker for being spent on social purpose. It was
Blackstone not Lenin who wrote: " the law not only regards life and protects everyman in enjoyment of it, but also furnishes him with
everything necessary for its support. For there is no man so indecent or wretched but that he may demand a supply sufficient for all the

necessities of life from the more opulent part of community.

36. What is the fundamental tenet of Democracy 39. What is democracy essentially according to author?
according to author? 2) A form of government
a) Right to choose representatives b) A political arrangement
b) The presence of effective opposition ¢) A pattern of life itself
¢) The operation of the principle of equality d) (a)and (b)

d) Right to stand for public offices

37. What according to the author is the fundamental 40. What do you think may be the most suitable
vice of present social order? title for the passage?
a) It provides fertile ground for sycophancy to grow a) Essential of Democracy
b) Itis based on the system of class privileges b) Law and Democracy
c) It is steeped in blind beliefs and irrational way of thought ¢) The Economic basis of Democracy
d) It fosters corruption d) Conditions of a stable Government

38. What is Blackstone's view about law?

a) Law regulates the behaviour and actions of people living in society

b) Law protects the privileges of a few persons of the society who claim to be leaders of the society

c) Law protects the rights of people and punishes those guilty of breach or infringement of social codes Law
protects life and creates safeguards conditions for the enjoyment of life by every citizen.

d) It also sees that every citizen may have a share in the wealth of the community, the rich people sharing
their wealth with the poor
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Questions 41- 45
DIRECTIONS: In the following questions choose the word which closely fits the given definition

41. A flock of crows is called 44. One who speaks less
a) Hesitant

a) Parliament .
b) Reticent

b) Murder .
¢) Pride ¢) Effusive
d) School d) Eccentric

45. A book published after the death of its author

42. An unmarried woman is called
a) Contemporary

a) Spinner b) Classic
b) Spouse ¢) Posthumous
¢) Sibling d) Epistle

d) Spinster

43. A thing no longer in use
a) Traditional
b) Modern
¢) Obsolete
d) Epitome

Questions 46- 50
DIRECTION: In the following sentences point out the error, if any:

46. I can,t hardly believe it even though I saw 49. What fun we had in the party last night!
it myself a) What fun we had
a) I saw it myself b) in the party
b) No error c¢) last night!
¢) I can't hardly believe d) No error

d) It even though
50. Everyone are present in class today.
47. Despite heavy traffic, John was right on time a) Everyone are

for the meeting. b) present in

a) Despite heavy traffic ¢) class today.
b) for the meeting. d) No error
¢) No error

d) John was right on time

48. Tina and me are going to the market this Saturday.
a) are going to the
b) market this Saturday.
¢) No error
d) Tina and me

Questions 51 - 55
DIRECTIONS: In the following questions choose the correct preposition to complete the sentence

51. The house next the bakery is mine. 52. The caterpillar turns a butterfly.
a) In a) From
b) To b) To
¢) By ¢) In
d) Aside d) Into
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53. He is always jobs.
a) Outside
b) Between
c) In
d) Away

54. She sat
a) Next
b) Beneath
¢) Behind
d) Along

Questions 56 - 65

me in the examination.

55.

They did everything in accordance
wishes.

a) To

b) In

¢) For

d) With

DIRECTIONS: For the following foreign language phrases choose the correct meaning :

56. Alma mater
a) A literary man
b) From the same institution
¢) Amorous lover
d) Present Condition

57. Deju ve
a) Already live through
b) Far-sighted
¢) Free choice
d) Offence committed

58. De Facto
a) In reality
b) Destroyed facts
¢) High Altitude
d) Decadence

59. Faux Pas
a) Frequent visits
b) Final Destination
¢) Blunder
d) By honour

60. Lingua Franca
a) Common Language
b) Liberty
c) Licence
d) Language Barrier

61.

62.

63.

64.

65.

Blitzkrieg

a) Blizzard

b) Logical Conclusion
¢) Intensive attack

d) Slavery

Modus Operandi

a) Method of operation

b) Somewhere in the centre
¢) Free choice

d) Ultimate discreation

Pro Bono
a) Done without change
b) Professional

¢) Complete power
d) Often

Idem

a) Different
b) The same
c) Identity
d) Agitated

Albeit

a) Therefore
b) Thus

¢) Though
d) However
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Questions 66 - 75
DIRECTIONS: In the following choose the most appropriate Antonyms (Words opposite in meaning):

66. Dissent 71. Boisterous
a) Agreement a) Lively
b) Demur b) Active
¢) Disapproval ¢) Exuberant
d) Defiance d) Quiet
67. Ostracize: 72. Consent
a) Shun a) Acceptance
b) Debar b) Disagreement
¢) Repudiate ¢) Accord
d) Include d) Permission
68. Subterfuge 73. Pernicious
a) Deceit a) salutary

b) Pretence
¢) Honesty
d) Duplicity

b) pestiferous
¢) Inscrutable
d) recondite

69. Reluctant 74. Herculean
a) Opposed a) Puny
b) Hesitant b) Indecent
¢) Willing ¢) Big
d) Resistant d) Deistic
70. Boast 75. Baffle
a) Gloat a) Thwart
b) Brag b) Make way
c) Exaggerate c¢) Confuse

d) Depreciate

d) Substitute
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76.

SECTION - III
LEGALAPTITUDE AND LEGAL AWARENESS

A direction pole was situated on the crossing. Due to an accident the pole turned in such a manner that the
pointer which was showing east, started showing south. One traveller went to the wrong direction thinking
it to be west. In what direction actually he was travelling?

a) North
b) South
c) East

d) West

Questions 77 - 78

DIRECTIONS: In each question two statements are given. There may or may not be cause and effect
relationship between these two statements. Mark your answer using this code.

77.

Statement I: School education has been made free ~ 78. Statement I: Hallmarking of gold jewellery has

for children of poor families. been made compulsory.

Statement II: Literacy rate among the poor is Statement II: Many persons do not prefer to buy
steadily growing. Hallmarked jewellery.

a) Statement I is the cause and statement II is the effect a) Statement [ is the cause and statement II is the effect

b) Statement II is the cause and statement I is the effect b) Statement II is the cause and statement I is the effect

¢) Both the statements are independent causes ¢) Both the statements are independent causes

d) Both the statements are independent effects d) Both the statements are independent effects

Questions 79 - 80

Directions: A principle/principles and a fact situation are given in following questions. Decide only
on the basis of the principle(s).

79.

80.

PRINCIPLES

(i) Neighbour principle-A person is liable if he harms his neighbour. A neighbour is one whose
action affects another.

(i1) One is liable only tor contractual relations.

FACTS: X manufactures a food item and sells his food item to Y, a whole seller. V appoints Z, a retailer
to retail these items. Z sells the food item to a consumer who after eating them falls ill. X is liable to
the consumer because

a) of contractual relations

b) of the Food Adulteration Act

c¢) the consumer is the neighbour of X
d) of the consumer protection law

PRINCIPLES
(i) Freedom consists in making choices out of two or more alternatives
(i1) Everyone has freedom to speak

FACTS: X says his freedom to speech includes freedom not to speak. X's assertion is

a) Wrong

b) right

¢) wrong because the freedom to speak cannot mean freedom not to speak
d) right because X may opt to speak or not to speak
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Questions 81 - 108
DIRECTIONS: From the four options given, choose the right answer.

81.

82.

&3.

&4.

85.

86.

Extradition means:

a) Sending a criminal back to his home state or the
territory where he committed the crime

b) Arresting a person fleeing a country

¢) Rescuing a refugee

d) Not sending back a refugee.

Which of the following is not a recognized
fundamental right under the Indian Constitution

a) Right to free and compulsory education for age
group of 6-14 years

b) Right to Constitutional Remedies

¢) Right to higher education

d) Right to freedom of Religion

89.

In India which of the following authority is
considered as Supreme

a) Parliament of India

b) Supreme Court of India
¢) Constitution of India

d) Prime Minister of India

90.

All contracts are agreements. All agreements
are accepted offers. Which of the following
derivation is correct?

a) All accepted offers are contracts

b) All agreements are contracts

¢) All contracts are accepted offers

d) Allillegal agreements are contracts

91.

No minor can enter into a contract of work.
Working in a shop can be done only by a
contract. Which of the following derivation
is correct?

a) A minor cannot work in a shop

b) A shop cannot contract with a minor

¢) There cannot be a contract to which minor is a party
d) A minor can work in a shop

When a customer shops at a supermarket, the

offer is accepted and the contract is formed:

a) As soon as the customer enters the supermarket

b) When the customer accepts the goods on offer on the
shelves by placing them in their basket

¢) At the checkout, when the customer accepts the
supermarket's offer to sell the goods

d) At the checkout, when the supermarket accepts the
customer's offer to buy the goods

87.

88.

92.

93.

Which amongst the following High Court has
the most number of bench

a) Delhi

b) Madhya Pradesh

¢) Bombay

d) Allahabad

Voluntary transfer of possession from one person
to another is called

a) Transfer

b) Change of possession

c¢) Delivery

d) Deliberance

NLSD (National Legal Service Day)

a) Is celebrated on 9th November of every year

b) On this day Lok Adalats are organized to citizens to
encourage availability of the legal system operations
to people on the equality basis.

c¢) Is celebrated on Sth June

d) Both (a) & (b)

A doctor has invented a new medicine for curing
Cancer, under which law he can protect it from
being exploited by strangers

a) Consumer Protection Act

b) Copyright Act

¢) Geographical Indication Act
d) Patent Act

The Muslim religious foundations are called

a) Wakfs
b) Quzat
¢) Ulema
d) Sadqa

In a Hindu Family governed by Hindu Law, a
person who has an adopted son living

a) Can adopt another son

b) Cannot adopt another son

c¢) Can adopt adoptive son with consent of adoptive son
d) Can adopt with Prime minister's consent

Polluter Pays Principle exposes the polluter to
two fold liability

a) Compensation to the victims of pollution
b) Ecological restoration

¢) Ecological destruction

d) Both of 1 &2
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94.

9s5.

96.

97.

98.

99.

100.

101.

The minimum number of Judges who sit
in a Supreme Court bench are:

a) One
b) Two
c) Three
d) Five

Transfer of shares in case of public company is

a) Prohibited

b) Restricted

¢) Transferable with permission
d) Freely transferable

Which is the oldest High Court in India
a) High Court of Calcutta

b) High Court of Madras

¢) High Court of Delhi

d) High Court of H.P.

In Criminal Legal system, the temporary
release of a prisoner is called

a) Discharge

b) Pardon

¢) Parole

d) Release

Which kind of tax is GST?

a) Direct tax

b) Indirect tax

¢) Depends on type of goods and services
d) Sales tax

What is to be included in capacity of the
parties to make a contract

a) Age of majority

b) Soundness of mind

¢) Be a person of same community
d) Both 1 &2

'Caveat Emptor' means
a) Buyer beware

b) No Entry

c) Let us have a body

d) Deserted area

Which one of the following did not serve
as the Chief Justice of India

a) V.R. Krishna Iyer
b) M Hidayatullah
¢) M.C. Mahajan
d) V.N Khare

102.

103.

104.

105.

106.

107.

108.

What are the rights of arrested person?

a) Informed about of grounds of arrest

b) To meet with an advocate of his choice

¢) Person arrested not to be detained more than twelve hours
d) Both (a) & (b)

Under Animal laws in India

a) Itis illegal to put out poisoned food.
b) Itis illegal to kill homeless animals
c¢) Stray animals may be used for research

d) Both (a) & (b)

Which of the following agencies have not been
mentioned in the Constitution?

a) Union Public Service Commission

b) Election Commission of India

¢) Planning Commission

d) Finance Commission

Property of a Company belongs to

a) Shareholders
b) Members
¢) Promoters
d) Company

The President of India is administered oath by
a) Prime Minister

b) Attorney General

¢) Chief Justice of the Supreme Court

d) Chairman of Lok Sabha

'Sub poena’ means:
a) Assistant
b) Affidavit
¢) Summons
d) Advocate

Non registration of marriage Under Hindu Law

a) Invalidate the marriage

b) Not invalidate the marriage but calls for imposition of penalty

¢) Not invalidate the marriage
d) Non imposition of fine
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Questions 109 - 110

DIRECTIONS: Each of the next two questions consists of two statements, one labeled as 'Assertion'
(A) and other as 'Reason' (R). You are to examine these two statements carefully and select the
correct answers.

109. Assertion (A): A void contract is not necessarily illegal Reason
Reason(R): Every illegal contract is void.

a) Both A and R are individually true and R is the correct explanation of A.

b) Both A and R are individually true but R is not the correct explanation of A
c) Ais true but R is false

d) Ais false but R is true

110. Assertion (A): The State shall not make any law, which takes away or abridges the rights conferred
by Part III (Fundamental Rights) and any law made in contravention of this clause shall, to the
extent of the contravention, be void.

Reason (R): The fundamental rights are the rights reserved by the people and for this
reason they are eternal and sacrosanct.

a) Both A and R are individually true and R is the correct explanation of A

b) Both A and R are individually true but R is not the correct explanation of A
¢) Ais true but R is false

d) Ais false but R is true.
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I11.

112.

113.

114.

115.

116.

117.

SECTION IV
ANALYTICAL ABILITIES

Look at this series: 7,10,8,11,9,12......
What number should come next?

a) 7
b) 10
c) 12
d) 13

Look at this series: 22.21,23,22,24,23...
What number should be next?

a) 22
b) 24
c) 25
d) 26

Among A, B, C, D and E each having different
amount of money, C has more money than only
E. B has more money than D but less than A.
Who among them has the highest amount of
money?

a) B

b) A

c) D

d) Data inadequate

Which word does not belong with the others?
a) Tulip

b) Rose

¢) Bud

d) Daisy

Which word does not belong with the others?
a) Unimportant

b) Trivial

c) Insignificant

d) Familiar

Which of the following is the middle digit of the
second highest number among the five three
digit numbers

given below?

512 739 428 843 654

a) 1

b) 3

c) 2

d) 4

In a certain code language 'RISE 'is written as
'8419"' and 'MEAL' is written as '5927".
How is 'RAIL' written in that code?

a) 8429
b) 8124
c) 8247
d) 2948

118.

119.

120.

121.

122.

123.

124.

Find the number of triangles in the given figure.

a) 8
b) 10
c) 12
d) 14

Find the missing terms:

FRIEND : FPIBNZ : : MENTOR :
a) MCNOQN

b) CMQNNO

¢) MNCNOQ

d) MCNQON

'Bank’ is related to 'Money' in the same way
"Transport' is related to ?

a) Traffic

b) Movement

¢) Road

d) Goods

Choose the correct alternative that will continue
the same pattern and replace X' in series
6,18,42,78,X

a) 84

b) 96

¢) 126

d) 108

The difference of how many letters is in the position
of Z in the word "EMPHASIZE" and alphabet?

a) 12

b) 18

¢) 16

d 15

Which word among the following will be second
according to a dictionary?

a) CROAK
b) CRORE
¢) CROSS
d) CROCK

The following words are in disorder. If they are
arranged in a proper way a correct meaningful
sentence is formed. What is the last word in the
sentence? A boy lovely is Bunty.

a) Lovely

b) Bunty

¢) Boy

d) Is
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125.

126.

127.

128.

129.

130.

131.

If "O" represents "OFTEN" then which of
the following words is represented by "W"?

a) WATER
b) WALK
¢) WISER
d) WOMAN

Find the next two letters in the given series?
BCEHL?

a) XY
b) MN
c) QW
d) OpP

Which one is the WRONG number given in
the following series?

126, 98, 70, 41, 14

a) 98

b) 70

c) 126

d) 41

Arrange the following in a meaningful order.
1)Exhaust 2)Night 3)Day 4) Sleep 5) Work

a) 13,524
b) 3,5,1,4,2
©) 3.5,12,4
d) 3,5.2,1,4

If HOSPITAL is written as 32574618 in a
certain code. Then what will what will be the
code of POSTAL?

a) 752618
b) 725618
¢) 725168
d) 725681

'BF' is related to 'HL' in the same way as 'EI'
is related to

a) JO
b) IN
¢) KO
d) KN

An old woman decided to divide her gold
among her daughter and daughters-in-law.
She first kept exactly half of the gold for her
daughter. Then she divided the rest of her gold
among her daughters-in-law. The eldest one got
26 grams more than the youngest daughter-in-law.
The middle one got twice as the youngest one.
If the eldest daughter in law got 66 grams of gold,
how much was received by the daughter?

a) 172 gms

b) 192 gms

c) 186 gms

d) 194 gms

132.

133.

134.

135.

136.

137.

138.

What is the wrong number given in the series?
1,9,25,50,81

a) 1
b) 25
c) 50
d) 81

If the day before yesterday was Sunday, what
day will be three days after tomorrow?

a) Sunday

b) Monday

¢) Wednesday

d) Saturday

Find the ODD word in the following set?

a) ROOM
b) CHAMBER
¢) VARANDA
d) CABIN

Find the ODD letter?
a) A
b) I
¢c) D
d) E

Find the missing term QIOK:MMKO::YAWC :
a) USGA
b) UESG
¢) VUES
d) SUEG

Find the missing number 24::126::48::?
a) 433
b) 192
¢) 240
d) 344

Population of a town increases by 2.5% annually
but decreased 0.5% every year due to migration.

What will be the percentage of increase in 2 years?

a) 5
b) 4.04
c) 4
d) 3.96
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Questions 139 - 143

DIRECTIONS: In each question below, two words are paired which have certain relation. After the double
colon(:) another word is given find out the correct word which pairs with this word taking into account the
pair already given.

139. Poetry: rhyme:: Philosophy: --------- 142. FOX: CUNNING::RABBIT : -----
a) imagery a) Courageous
b) music b) Dangerous
¢) bi-law ¢) Timid
d) theory d) Ferocious
140. Marshal : prisoner :: Principal; ---------- 143. Coif : hair:; ------- : musical
a) Teacher a) Shower
b) President b) Close
¢) doctrine c¢) Praise
d) student d) Score
141. Denim: cotton:: -------- : Flax
a) sheep
b) uniform
c) sweater
d) linen

Questions 144 - 148
DIRECTIONS: Choose the pair that best expresses the relationship.

144. Run: Race:: ----------- 147. Pesticide: Plant:: ---------
a) Party: Dance a) Injection: Disease
b) Study: Book b) Vaccination: Body
¢) Enjoy: Journey ¢) Medicine: Cure
d) Lecture: Study d) Teacher: Student
145. Hospital: Doctor:: ---------- 148. Fox: Cunning:: ---------
a) College: Student a) Cat: Playful
b) Lawyer: Court b) Horse: Runner
c) Army: Soldier ¢) Vixen: Cute
d) School: Teacher d) Ant: Industrious

146. Cat: MOUSE % ——-mmmmmmmmm
a) Trap: Cheese
b) Lion: Cage
¢) Bird: Worm
d) Horse: Stable
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Questions 149 - 150

149. By which of the following propositions, the proposition 'some men are not honest' is contradicted

a) All men are honest

b) Some men are honest

¢) No men are honest

d) Generally men are honest

150. Ananya and Krishna can speak and follow English. Bulbul can write and speak Hindi as Archana does.
Archana talks with Ananya also in Bengali. Krishna cannot follow Bengali. Bulbul talks with Ananya in Hindi.
Who can speak and follow English, Hindi and Bengali?

a) Archana
b) Bulbul

¢) Ananya
d) Krishna
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